Montageanleitung | Instructions de montage IMPORTANT ! KEEP FOR FUTURE REFERENCE : READ CAREFULLY ]

. . L .
Assembly Instruct10n8| Instrucc10nes de //' To be assembled by an adult. Assembly must be checked by an adult before use ™,
* WARNING ! Keep all screws, small parts and plastic bags out of the reach of children

mOlltaj e * Properly identify all parts before assembling

* Never use your item if any of its parts are broken or missing

SKU NUMBER:WF313980/WF313981 * Should any problems arise, please contact our After Sales Service

* Manufacturer's instructions shall be followed at all times

* Care: Clean with a soft, dry cloth. In case of larger stains, carefully rub with a slightly damp, non-
abrasive sponge

* Avoid the risk of fire by not placing furniture near sources of ignition or hot items
.2 Do not jump on the bed S

WICHTIG ! ZUM SPATEREN NACHSCHLAGEN AUFBEWAHREN: SORGFALTIG LESEN j

/":’Muss von einem Erwachsenen zusammengebaut werden.Der Zusammenbau muss vor dem Gebrauch ™,
! von einem Erwachsenen tiberpriift werden \
« WARNUNG! Bewahren Sie alle Schrauben, Kleinteile und Plastikbeutel auBerhalb der Reichweite von
Kindern auf

* Kennzeichnen Sie vor dem Zusammenbau alle Teile richtig

* Benutzen Sie Ihren Artikel niemals, wenn Teile gebrochen sind oder fehlen

« Sollten Probleme auftreten, wenden Sie sich bitte an unseren Kundendienst

= Die Anweisungen des Herstellers sind stets zu befolgen

 Pflege: Mit einem weichen, trockenen Tuch reinigen. Bei grofReren Flecken vorsichtig mit einem leicht
feuchten, nicht scheuernden Schwamm abreiben. nicht scheuernden Schwamm

* Vermeiden Sie die Gefahr eines Brandes, indem Sie die M&bel nicht in der Ndhe von Ztindquellen oder
\ heiBen Gegenstdnden aufstellen

\\: Nicht auf das Bett springen S

Frangais

,/": Le montage doit étre effectu¢ par un adulte. Le montage doit étre vérifié par un adulte avant .
{ Utilisation \
* ATTENTION ! Tenir les vis, les petites pieces et les sachets en plastique hors de portée des enfants
* Identifiez correctement toutes les pieces avant de les assembler
* N'utilisez jamais votre article si I'une de ses pi¢ces est cassée ou manquante
* En cas de probléme, veuillez contacter notre service aprés-vente
* Les instructions du fabricant doivent étre respectées a tout moment

* Entretien : nettoyer avec un chiffon doux et sec. En cas de taches plus importantes, frotter
soigneusement avec une éponge non abrasive légérement humide. Iégérement humide et non
Abrasive

* Evitez les risques d'incendie en ne plagant pas les meubles a proximité de sources d'inflammation

I \ ou d'objets chauds !
\

\, .
¢ Ne pas sauter sur le lit e

1117 217




IMPORTANTE! CONSERVARE PER RIFERIMENTO FUTURO: LEGGERE ATTENTAMENTE

g Y
S,
e N

/"« Deve essere assemblato da un adulto. L'assemblaggio deve essere controllato da un adulto prima dell'uso \
» ATTENZIONE! Tenere tutte le viti, le piccole parti e i sacchetti di plastica fuori dalla portata dei bambini
* Identificare correttamente tutte le parti prima dell'assemblaggio
= Non utilizzare mai l'articolo se alcune parti sono rotte o mancanti
* In caso di problemi, si prega di contattare il nostro Servizio Post Vendita
* Le istruzioni del produttore devono essere sempre seguite
* Cura: Pulire con un panno morbido e asciutto. In caso di macchie pit estese, strofinare accuratamente con
una spugna leggermente umida e nonspugna leggermente umida e non abrasiva

* Evitare il rischio di incendio, non collocando i mobili vicino a fonti di accensione o a oggetti caldi

\.* Non saltare sul letto /

.
e -

i IMPORTANTE ! CONSERVELO PARA FUTURAS CONSULTAS: LEA ATENTAMENTE

,/- Debe ser montado por un adulto. El montaje debe ser comprobado por un adulto antes del uso

ADVERTENCIA Mantenga todos los tornillos, piezas pequefias y bolsas de plastico fuera del alcance de los nifios.
* Identifique correctamente todas las piezas antes de montarlas
» Nunca utilice su arti culo si alguna de sus piezas estd rota o falta
* Si surge algun problema, pongase en contacto con nuestro Servicio Postventa
* Las instrucciones del fabricante deben seguirse en todo momento
* Cuidado: Limpiar con un pafio suave y seco. En caso de manchas mas grandes, frote cuidadosamente con una
esponja no abrasiva ligeramente humedecida.

* Evite el riesgo de incendio no colocando los muebles cerca de fuentes de ignicion u objetos calientes.

%\, * No saltar sobre la cama. /

. -

3/17

B S5




WF313980/WF313981

Hardware List-Hardware-Liste-Liste du matériel

=

1pc

@

A\

1pc

™

J

4pcs

A

1pc

1pc

2sets

2pcs

N
~

1pc

1pc

2pcs

a
S
o0

1pc

}
[

2pcs

5/17

WF313980/WF313981
@) ©)mm
® 24
M8 x 18 M8 x 25
© ) s | ® =
M8 x 45
M5
o B |+]@| B
Angle iron (Left) Angle iron (Right)
0 o 2 | ©
® E%%;Eﬁééé 1
6 /17




M8*25

M8*45

o

E*1PC

<1 00: %

7 /117

Headboard Height is Adjustable
Kopfteilhohe ist verstellbar
Hauteur de la tete de lit réglable
La altura del cabecero es ajustable
L'altezza della testiera e regolabile

G*1PC

H*1PC

M8*18

O\

|@
/7

E*1PC




J

b

N

F*2PCS| I"2PCS

4

10 /17

)

N\

A*8PCS| E*1P

om
M8*18

3




|

N\

A*8PCS| E*1PC

Qum

6 | ms18

:

|

"\

B*4PCS| E*1PC

om

5 | ms+2s

[




J

N\

M8*45
C*3PCS| E*1P

Y

8

14 /17

N

A*4PCS|B*2PCS|C*2PCS| E*1PC

Y

@

m

M8*18 | M8*25 | M8%*45

I

:

13 /17







GB NOTE: The battery in the remote control requires you to purchase and install it yourself.
~ Model: CR2025 3.V

DE HINWEIS: Die Batterie in der Fernbedienung missen Sie selbst kaufen und installieren
~ Modell: CR2025 3.V

FR REMARQUE : la pile de la telécommande doit étre achetée et installée par vos soins.
~ Modeéle : CR2025 3.V

IT NOTA: |a batteria del telecomando deve essere acquistata e installata autonomamente.

~ Modello: CR2025 3.V
NOTICE: odello

You can scan the QR code here and download an app that cancontrol the color of the ES - EOOL*:[OLEF’{J;'SE‘?'B ’ﬂa”do a distancia debe compraria e instalarla usted mismo
light strip like a remote control.When your phone plays music through the app, the )

color ofthe light strip will also change according to the strength ofthe music. O O

Dynamic Mode Loop g 1; é 8 : gg D, i
Turn Off @ Turn On olyde @@3 @ 2z y

Dynamic Mode+/-

Brightness+/-

White light flash when

Dynamic Mode adjust to brightness limit
Speed-+/- O @)
White light flash whena e
djust to speed limit @ @ el
O O O Static Colors : ,. : Tﬂ '

@ @O we

4 Timer Options

® @
Symo o must ®»@®®

N

7 Static Colors Loop

BOENN

Notices O O

1.Please pull out the battery insulated plastic chip before using remote.
2.Press the lock key, the remote keys will be locked,
press the lock key again, allthe remote keys will be unlocked.

ol b

-

rﬁ x
f

17 117




Certificate of Compliance

Certificate No. : LST200668061E

Applicant : Shenzhen Pinchengxin Technology Co., Ltd.

Applicant 203, Floor 2, Building A, Electric Power Plant, No.1, Yonghe Road,
Address - Longteng Community, Shiyan Street, Bao’an District, Shenzhen
Manufacturer - Shenzhen Pinchengxin Technology Co., Ltd.

Manufacturer 203, Floor 2, Building A, Electric Power Plant, No.1, Yonghe Road,
Address - Longteng Community, Shiyan Street, Bao’an District, Shenzhen
Product : LED Strip Light

M/N : 5050

3528, 2835, 3014, 2216, 335, 2210, 5630, 5730, 0805, 0603
Trademark : N/A
Test Standard : EN 55015:2013+A1:2015
EN 61000-3-2:2014, EN 61000-3-3:2013
EN 61547:2009
EN 61000-4-2:2009, EN 61000-4-3:2006+A1:2008+A2:2010,
EN 61000-4-4:2012, EN 61000-4-5:2014+A1:2017,
EN 61000-4-6:2014, EN 61000-4-8:2010, EN 61000-4-11:2004+A1:2017

The EUT described above has been tested by us with the listed standards and found in compliance
with the council EMC directive 2014/30/EU. It is possible to use CE marking to demonstrate the
compliance with this EMC Directive. It is only valid in connection with the test report number:
LST200668061ER.

Issue Date: Jun. 28, 2020

Zertifikat Certificate
TOVRheinland

Fertifikat Nr.  Certificare No, Blatt Sheer Giiltig ab Valid from
& 50558898 cool 25.10,2022 fideymoior)
Lhr Zeichen Client Reference Unser Zeichen ur Refe Ling: giltig bis  Latest expiration dote

02-Zhanmi-CN22Z7E0 001 24.10.2027 fdapimasr)

Genehmigungsinhaber License Holder Fertipungsstiitte Manufacturing Plant

AIAMEN INVCY ELECTRONICS Refer to latest revision

cC., LTD. of the annex list of factories
1F/3F-5F,BLDG 5,

No.943-5, Tongleng 2nd Ed,

Torch Hi-tech Industrial Zone

361000 (Xiang'an}Xiamen Fujian

P.E. China

Priilzeichen Test Mark Gepriift nach  Tested ace. 1o
= 5 EMN 60335-1:;2012+A11+R13+AL+Al4+A2+A15
EN 60335-2-25:2021+21
EN £2233:2008
EKl 527-12 Rewv, 2

N ]
| TOwARnland

ZERTIFIZIENT »

EK1 557-13
B R
Fertifiziertes Produki (Gerdteidentifikation) Lizenzentgette - Einheit
Cernified Product (Prodict Ientificarion) License Fee - Unit

Ladegerit (Battery Charger)

Bezeichnung: IV2onn- yyyyWz  IVERMXX -yyyyAz 8
(Type Desigraticnd IVPxxxx-yyyyBz  (levey)

xxxx= 0370-3000; vierste.lige Zahl steht fdr den 100 fachen
Wert der Ausgangsspannung in V. Die Ausganzsspannung
steigt von 3,70V in Schritten wom 0,01V arn, (four
digits indicacirg 100 cimes the cutput voltage value
in ¥. The ocutput wvoltage is rising in steps cf 0.01¥
from 3.70V.}

yyyy= 0120-2000; wierarellige Zasl ateht fi- den 1200 fachern
dZahlenwert den Ausgangsstroem in A, Der Ausgangsstrom
steigt von §.1A4 in Schricten von 0.GlA an. (four
digits indicating 1000 times the oubput current valuoe
in &. The cucput currenc is riging in steps of C.01A

from 0.LlA.;
z < & oder for) B
|
Nernspannung (Rated Valtage! : AC 100-240V; 5G/60Hz
HannstromiRated Current) : 0.5A

scbuczklszsse {2rotection Class): II
Forizetzung EBlatt (continued on page: O0C02

ANLAGE (Appendix!: 1

LDem Zertudikal et onsere Priaf- und Zertifizeerungsordnung zpgrunde.
Pridukn und Fermigungssiatme erfutlen § 20 des
Proddeklsicherhobspeselzes,

Tieis corrificode i based on owr Testing and Certfootion Regwlaion
The proviziors of ¥20 Frade: Sofety Act are complied with.

TUV Rhginland LGA Predusts GmbIL Tillystrafic 2, 90431 Niirnberg

hithgesd e Ly Feny E-nuail. masks] Eom
Fax: —4% 221 $06-3435

Ausstellungsdatum Date of fesue ; 25,14, 2022 (day/mofyr)

IZTEI ME K o T AT fr 16 DI bt fFin dee e qFdn s T e mA




VERIFICATION OF CONFORMITY

EU - The Radio Equipment Directive (RED) -
No. : CTB231227005REX-ZS

Applicant ¢ Dongguan Huima Synthetic Electronics Co.,Ltd

Address * 3rd Floor, Bingding A, No.1 Jiangxing Road, Huangjiang Village, Huangjiang
Town, Dongguan City, Guangdong Province, China

Manufacturer : Dongguan Huima Synthetic Electronics Co.,Ltd

Address ¢ 3rd Floor, Bingding A, No.1 Jiangxing Road, Huangjiang Village, Huangjiang
Town, Dongguan City, Guangdong Province, China

Product . Baolian Lamp 2.4G Bluetooth LED Controller
Trade Name : NA

HM-LY-2.4G, HM-LY-3K008, HM-LY-3K009, HM-LY-2.4G001,

Model(s
(¢) HM-LY-2.4G002, HM-LY-2.4G003

The tests that base on the above designated product Complies with the essential requirements
of Directive 2014/53/EU relating to Electrical Equipment designed for use within Radio and
telecommunications terminal equipment.

The test results apply only to the particular sample tested and the applicative tests carried out.
The CE markings as shown below can be affixed on product after manufacturer carry out all
stipulation activities integrally of above mentioned Regulation (Directive) and preparation of
necessary technical documentation as well as the conformity declaration.

This statement is based on a single evaluation of sample of above mentioned product. It does
not imply an assessment of the whole production process.

Other relevant Regulation (Directive) requirement have to be observed.

<
m
2
L
O
>
=
o
r4
o
-
O
o
Z
L
O
A
S
-
<

Bin Mei (Director)
Jan. 19, 2024

Shenzhen CTB Testing Technology Co., Ltd

Add: 1&2/F., Building A, No.26, Xinhe Road, Xingiao, Xingiao Street, Bao'an District, Shenzhen, Guangdong,
China.

Web: www.ctb-lab.net Tel: 4008-707-283  Email: ctb@ctb-lab.net





 
 
    
   HistoryItem_V1
   InsertBlanks
        
     位置： 在第9页之后
     页数： 1
     页面大小： 与第10页相同
      

        
     Blanks
     1
     Always
     1
     1
     /H/新中豪/2024.7/2024-136单说明书订购（稿件有更新）/进口商信息2024 (1).pdf
     2
     1
     9
     1129
     310
     AllDoc
     qi3alphabase[QI 3.0/QHI 3.0 alpha]
     10
            
       CurrentAVDoc
          

     2
     SameAsPage
     AfterNum
      

        
     QITE_QuiteImposingPlus3
     Quite Imposing Plus 3.0
     Quite Imposing Plus 3
     1
      

   1
  

    
   HistoryItem_V1
   PageTools
        
     动作：删除页面
     范围： 当前页
      

        
     DeletePages
     1
     50
     1
     17
     AfterNum
     All
     747
     322
    
     qi3alphabase[QI 3.0/QHI 3.0 alpha]
     R270
            
                
         Both
         2
         CurrentPage
         2
              

       CurrentAVDoc
          

      

        
     QITE_QuiteImposingPlus3
     Quite Imposing Plus 3.0
     Quite Imposing Plus 3
     1
      

   1
  

 HistoryList_V1
 qi2base



